EARAROBEEIERT — 2 N— IBISH —F

2014537200 (K) 27EZ&HE2H

mﬁﬁ#&#ﬁﬂ A2 ¥S5FR—M ESRE
[AE£] 1% :430,000" ~ 2#%:77,000 ™M  33#%&:30,000H”  4%&:22,000” / 5&:0HM
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
¢ . o TR 143 —-8-8- . — BriE—% (Z84E)
1155 JINIL Kk— 4 6 e 1(453)3 8-8-8-5 |38.8 6 ::111) e
X LTHANXIN BiRYSG 42T BB
SILIS 5 | BER— 1:43.7 3-3-3-2 | 40.3| — 1 4 | FEES (BEHE)
2lglg|*EV—=—2IN # 56.0 @ o | .8 %957
L:xoindO— BXEYU-TT7U—+ [ Z LN
— — KA : -9-9- — BEmE (BEE)
3117970270 i 6 Kt (12414/2% 9-9-9-7 |39.2 8 (5_237) tsaa%ﬁ
:T7v3IT—L BiRIL/ A #BAR RE
I 5 # o5 | REEX 1:44.3 -1 (4| — | 5 | 478 | SEBZ (BEE)
4 4| IVUFaE 56.0 (1/2) (o) | AR
R:TITRAFTEN B TLTaATSY HE R
— o7 | FEEREH 1:44.7 6-6-5-4 |40.7| — 3 533 | IEH (BEE)
5 2 *U/71—7 56.0 @ (-4) %‘h‘tﬁﬁfﬁ
R:T7ITRAFV4IN B:x%7/Y1=— TIE8T7—L4
> 6 | RIIARI 1:45.4 2-2-2-3 | 42.0| — 2 464 | DNEE==AR (56HA)
6 6| IQALA 56.0 3) Loy | BRRE a
R/ RS vy g BAACO—X V3 hBERBS
SINILS t 5 | ABHBR 1:45.8 5-5-5-6 | 41.8| — 4 488 | ETREIA (BEHE)
7(7|7 | B F/XT T * 5.0 @ © | @ 7r-xtEvaz
:Aa—-I> 70> B:YvA L ANRY v WA A
o= A =& o7 | HHEA 1:46.3 7-1-71-9 | 41.7| — 9 500 | #FIUEE (BHE)
8/8|8 INTGZAXATE—R 56.0 (2 1/2) (-5) KHEERF
RNFGHEART )=y BUATFIE—F =4 St
> o 47 | FEREME 1:47.6 4-4-4-8 | 43.7| — 7 463 | AEED (BHE)
9 3| R*FITEY T 56.0 ®) (45) | M=
LG4 b)—ZAE—F B:¥3t714—X TTERS
® I—F—@EBIERL
|S=7r= 4,6,9,3,7,2,8,5,1
Ao=5"= 4,6,9,3,7,2,8,5,1
3T—7— 4,6,9,3,(2,7),8,5,1
41—F— 4,9,6,2,5,7,1,3,8
[ RN
B 5 10,320M 794K 5-9 1,060M & 5-8 1,400M &R 1-5-9 19,770M
# B 5 440H =5 6,970 B E 5-9 2,570 EE 5-9-1 219,660
9 120 1-9 2,110 B H 5-9 14,570
1 1,050

ABICOVWTRDTEEERROODE. TR LIV,




